B4 I R )

(1-4 ¢ )
'J‘Mi.xtﬂ*ﬂ]&ﬂ}"l 5 !
— H—H.
1. FEASE.
N L LT e
Y - T
( R A amER(
2. AR B

95.90.85.( )~ ) +( ) o
( )~ ( ).33.43.( ) 63,

3.5 £( ),100 B A ( )/H*o
4.4 R4, ERT BB

. ééébééﬁ&é&&
slelele e ¢é

FRHHZ( )A BLESER D ( ) e
6&02&1‘. - R j‘= o

e \_’/13 7
. i V\—ﬁ
8+7= +6=l3 7+




8. B i 4B e P 1B
) ,89,( )

( ) ,48, ( ) 5
o e i RRERED? KR
‘g"*fg'=|6 Z =[] Da =l |

Ta- + - =18 Z
#10. 1 B8 100, 35 I ( )A~“57 o

=
1. EEW/J\%H%S’JE%??‘JM? % —%o

PR
i E>

2. Eﬁﬁﬁﬁlﬂﬁﬂﬂ%#ﬁﬂ%? %E—i%o
, ® %
- A e

/A X

T

3. %5—%.

MR R kIR ENE




70
(s g—g. o[ ] o[
(2)10 7~ 10 /4 P — P

(3)10 4~ 10 1 3%, A ( )4 10 i 2 ( ) B nt: -
A ( i

2 BHEHPRKIE.
46 #149 86 F190 65 156

BNEARMTEZLT B V", N2 RATELT?
@.“A"O
A oo & LR R e
}#’o y__*.
&O 9 |137|45|82
(o]




L T 4
i .’f 0l IE0 |-~nj :

. Iﬁ; s e "
WOH—TW

T ERTER W\{w‘fg? 2207

L)

(X)

O




INERLE ARG T IDHOIH R 5 2]
)

(SF A%
S3HE A3 E A
— 40 4y T+4 4442 +4+44+6+4+3+2
CEE 17 4y 4+4+5+4
= e 0 23 4y 743444643
DY | fifp ok ) Rt 20 43 8+4 4444

\oooqoxm.pu[\).—)ﬁi'ﬁ}
i
(e}

/

T (2+24+3),23 40 8 2 82
445(2+2), 80 75 70;13 23 53
43 (24+2), 50 10
24, T4
A4 (24+42). 4 4
A1 +1+1+41), < > = =
6 mAEA L4, 15 7 5 5515 15 7 7T 55
Ay RRNBL2 4y, 47T 49 88 90
B EZE 1.8 9 17
10.2 53, %%:20
—E—E,
1.4 75 555 2 7. W%
2.4 5y BAREL 2 oy WK
3.5 03, BARIEL 1 4. WS
4.4 5y REEGEL by, W
= B—B.E—&. H—E,
1.7 (2+2+3), (1)50 (2)m& (3)5 3 53
2.3 4%, //NBL 4y, 49 90 65
3.445(2+2), 82:V 37:A
4.6 43, B/ NEL 3 g Hob el — R 1 4y B0 2 . 4 T
5.3 45, —m 143, 52 5. 9
M FRIR D) /R
1.8 43 (4+4), 12-7=5 17-8=9
2.4/%5, 16 -8 =8
3.44%, 13-8=5
4.4 4%, 11 -9=2

33





